
  

(DENG21) 

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2019. 

Second Year  

 (i) ENGLISH PAPER – II 

Time : Three hours Maximum : 70 marks 

(All Sections are compulsory) 

SECTION – A  

1. (a) Read the following passage and answer the questions : (5) 

 True economy consists in always making the income exceed the outgo.  Wear 

the old clothes or little longer if necessary ; dispense with the new pair of 

gloves ; mend the old dress, dine on a plainer food, if need be ; so that under 

all circumstances, unless some unforeseen accident occurs. There will be a 

margin in favour of the income. 

  (i) Where in the true economy? 

  (ii) What are the three domestic things mentioned? 

  (iii) What does the writer say? 

  (iv) Write the antonym of ‘exceed’. 

  (v) Pick out the word from this passage which is the synonyms for ‘repair’. 

 (b) Read the following paragraph and answer the questions by choosing the right 

answer :  

     (5) 

  The press and public were all fire and fury, especially in America. A bill was 

passed by the senate according to which the manufacturer of nitro-glycerin 

would, in the event of an accident, be charged with murder and liable to be 

sentenced to death by hanging. Britain introduced safety regulation which 

amounted to a virtual ban on the import and manufacture of nitro-glycerin. 

France and Belgium made the possession of the dangerous oil. Alfred Nobel 

saw himself face to face the ruin. There was only one way out of the dilemma 

; that of trying to solidify the oil so that it could be transported with absolute 

safety. 

  (i) Nitro-glycerin was manufactured by 

   (1) The Scientists 

   (2) The Nobles 



  

   

   

   (3) The Doctors 

   (4) Larsen. 

  (ii) A virtual ban was put by 

   (1) Britain 

   (2) Belgium 

   (3) France 

   (4) America 

  (iii)  Nitro-glycerin is 

   (1) Medicine 

   (2) Dangerous weapon 

   (3) A dangerous oil 

   (4) Gun-powder 

  (iv)  The man who tried to solidify oil was 

   (1) Larsen 

   (2) Pringle 

   (3) Nobel 

   (4) Alfred Nobel 

  (v)  The press and public were all fire and fury in 

   (1) France 

   (2) America 

   (3) Belgium 

   (4) Pringle 

2. Answer any TWO of the following in not more than 100 words each : (2 × 4 = 8) 

 (a) How did books enrich Keller’s life? 

 (b) Comment on L.A. Hill’s views on Freedom 

 (c) Why did Orwell change his mind and decide to shoot the elephant? 

 (d) What are the factors contributing to knowledge society? 

3. Answer any ONE in about 200 words : (7) 

 (a) What exactly is Man’s peril according to Russell? 



  

   

   

 (b) What are the principles of good writing according to L.A. Hill? 

 (c) Summarize Gandhi’s experience as a student in London. 

SECTION – B 

4. (a) Answer any ONE question in about  100 words : (4) 

  (i) Why does Ulysses want to leave Ithaca? 

  (ii) What is India’s gift to the First World War? 

  (iii) Write an appreciation of the poem “Mending Wall”. 

(b) Explain any ONE of the following : (4) 

  (i) ‘I am a part of all that I have met’. 

  (ii) Good fences make good neighbours 

  (iii) I fall upon the thorne of life ! I bleed ! 

5. Answer any ONE of the following in about 200 words : (6) 

(a) Write an appreciation of the poem “Because I could not stop for Death”. 

(b) Browning’s “The Last Ride Together” is a dramatic monologue. Discuss 

(c) Summarize the poem, “Advice to fellow swimmers”. 

SECTION – C  

6. Answer any ONE question in about 200 words : (6) 

 (a) Explain how “The Lottery Ticket” is a study of human psychology. 

 (b) Describe the friendship of Subha and Pratap. 

 (c) Attempt an evaluation of the grain merchant’s character in ‘Diamond Rice’. 

SECTION – D 

7. Read the following passage and summarize it : (5) 

 There are times when the night sky glows with bands of colour. The bands may 

begin as cloud shapes and then spread into a great arc across the entire sky. They 

may fall in folds like a curtain drawn across the heaven. The lights usually grow 

brighter and then suddenly dim. During this time the sky glows with pale yellow, 

pink, violet, blue and red. These lights are called the Aurora Borealis or the 

Northern lights. 

 The solar particles from the sun enter the Earth’s magnetic field and collide with 

gas particles in the Earth’s atmosphere. These collisions create the Northern 

Lights. 



  

   

   

 The kinds of particles bumping into each other determine the colours of the 

Northern lights. If the solar particles collide with oxygen, the lights produced 

might be green or yellow. When the solar particles run into nitrogen, the lights 

tends to be red or blue. How fact the particles are moving determine the size and 

shape of the lights. 

 In ancient times people were afraid of the lights. They imagined that they saw 

fiery dragons in the sky. Some even concluded that the heavens were on fire. 

8. Write an essay on ONE of the following : (5) 

 (a) Advancement of science and Human life 

(b) Communal harmony 

 (c) Globalisation. 

9. Answer any ONE of the following : (5) 

(a) Write a report on how you intend to spend your vacation. 

 (b) Write a report to the editor of a newspaper on Eve teasing in your area. 

10. Use FOUR of the following idioms and phrases in sentences of your own : (5) 

 (a) Lion’s share 

 (b) Cake walk 

 (c) Monkey business 

 (d) Better late than never 

 (e) A dime a dozen 

 (f) Beat around the bush 

 (g) When Pigs fly 

 (h) Best of both worlds. 

11. Answer any ONE question : (5) 

 (a) Write a letter to a friend inviting him to your hometown. 

(b) Write a dialogue between you and a shopkeeper at a bookstall. 

 (c) Write a letter to a publishing house asking for a catalogue of its latest 

publications. 

——————— 



 

  

 

    (DTEL 21) 

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2019. 

Second Year 

Paper – II(ii) — TELUGU  

Time : Three hours Maximum : 70 marks 

1. “Mìü…¨Ðé°ÌZ JMæü ç³§éÅ°Mìü {ç³†ç³§éÆæÿ¦ ™é™èþµÆ>ÅË$ {ÐéÄ¶ý$…yìþ. 
      (1 × 8 = 8) 
 (a) ç³… è̂þ Ô¶ýÆæÿ§æþÓÄ¶ý$çÜ$P—yæþÐ@þ# »êË$—yæþ Ñ… è̂þ$Mæü V>° ÌôýÐ@þ# ¿ê  

íÙ… ð̂þ§æþ$ ™èþÆæÿP ÐéMæüÅÐ@þ¬Ë$ gñýí³µ @̄þ Ô>çÜ̂Ð@þ¬ÌZ° Ä¶ý$Ææÿ¦ Ððþ¬  
MìüP… è̂þ$Mæü OÄñý$ @̄þ— gñýç³µ Ð@þçÜ$Æóÿ…{§æþ$° Ð@þ¬…§æþr Ð@þ*Mæü$ ¯ú§æþË Œ̄þ  
Ð@þ… è̂þ$Mö @̄þ…Væü— gôýíÜ†Ñ OÐðþÇ Ñ¿¶ý*çÙ×ý! Ð@þ…Ô¶ý §æþ*çÙ×ê! 

 (b) {´ëÆæÿ…À…_ @̄þ Ðóþ§æþ ´ëuæÿÐ@þ¬¯@þMæü$ Œ̄þ {º™èþ*Åçßý Ð@þ◊ @̄þ… è̂þ$¯ø  
Äôý$Æ> ™èþÐ@þ¬Ã—yæþ! @̄þ @̄þ$²— lyæþ— f @̄þ$§óþ Ððþ¯é²â¶ýå¯ø Ä¶ý¬…yìþ è̂þ  
„æü*Æ>iÐ@þ Ä¶ý¬Væü…º$ Ðö ð̂þ ° @̄þ$— Væü¯øYMæü$°P Ò$ »êÐ@þÄ¶ý¬ Œ̄þ  
± Æ>MæüÌŒý Ð@þ$¨— VøÆæÿ$ f…{§æþ$ ´÷yæþ$ç³# Œ̄þ ±Æ>MæüÆæÿ…º$…ºÌñý Œ̄þ  

2. “Mìü…¨Ðé°ÌZ {ç³†¿êVæü… @̄þ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$ {ÐéÄ¶ý$…yìþ.  (2 × 4 = 8) 

 "A' ¿êVæü… 
 (a) è̂þ§æþ$Ð@þ#ËÌZ Ð@þ$ÆæÿÃÐðþ$ËÏ f¨Ñ† ™èþ…{yîþ 
 (b) ±Ð@þ# §æþÄ¶ý$ Væü¯öȲ @þ Mæü$…yìþ @̄þ °ËÓ ó̄þÆæÿ$¢̄ óþ 
 (c) ¿êÆæÿ™èþ çÜ…íßý™èþ °Ë$a ^öyæþ$µ @̄þ Œ̄þ  
 (d) AÀÐ@þ* @̄þÐ@þ¬— Væü*ÇÃÄ¶ý¬ ð̄þ…§æþ$— »ZÄñý$¯ø! 

 "B' ¿êVæü… 
 (a) ¯é Äñý$yæþ§æþ {Ððþ*Oyðþ @̄þ §æþ$íÜ¦† 
 (b) "_Ñ$ÃOÐðþ ð̂þ @̄þ$ ™èþÆæÿ™èþÆ>Ë _Ð@þ$Ã `MæürÏ̄ ðþËÏ' 
 (c) °Æ>Ó™èþ ©ç³gZÅ† ´ùÍMæü 
 (d) ó̄þ @̄þ$ Ð@þ* @̄þÐ@þ iÑ™èþ ´÷ÌêË±² §æþ$ @̄þ$²™é 

3. “Mìü…¨Ðé°ÌZ {ç³†¿êVæü… @̄þ$…yìþ JMæü§é°Mìü çÜÐ@þ*«§é¯@þ… {ÐéÄ¶ý$…yìþ.   
 "A' ¿êVæü… 

 (a) {ç³àÏ§æþ íßýÆæÿ×ýÅMæüÕç³#Ë çÜ…Ðé§æþÐ@þ¬ @̄þ$ ÑÐ@þÇ… è̂þ$ @̄þ¨.  
 (b) çÜ™èþÅ¿êÐ@þ$ ´ë{™èþ _{™èþ×ýÐ@þ¬ÌZ MæüÑ è̂þ*í³ @̄þ {ç³†¿¶ý @̄þ$ ç³ÇÖÍ… è̂þ$yæþ$. 

 "B' ¿êVæü… 
 (a) Ð@þ$à…{«§ø§æþÄ¶ý$…ÌZ §éÔ¶ýÆæÿ¤ B¡ÃÄ¶ý$™èþ @̄þ$ {ç³Mæüsìý… è̂þ…yìþ. 



  

   

  

 

 (b) íÜ.¯é.Æðÿ Ð@þÇ~…_¯@þ ËMæü$Ð@þ$ ™éÅVæü… ÑÐ@þÇ… è̂þ…yìþ.  

4. “Mìü…¨Ðé°ÌZ {ç³†¿êVæü… @̄þ$…yìþ JMæü§é°Mìü çÜÐ@þ*«§é¯@þ… {ÐéÄ¶ý$…yìþ.   

 "A' ¿êVæü… 

 (a) ´ë @̄þ$Væü…sìý ÐéÇ Ýëíßý™èþÅõÜÐ@þ¯@þ$ ÑÐ@þÇ… è̂þ$ @̄þ¨. 

 (b) Æ>Ä¶ý$ËM>Ëç³# {ç³fË ÐóþçÙ Ææÿ è̂þ @̄þÌZ Væü…«§æþ ç³#çÙµÐ@þ¬Ë {´ë«§é¯éÅ°² ™ðþÍÄ¶ý$gôýÄ¶ý$…yìþ. 

 "B' ¿êVæü… 

 (a) Mæü–çÙ~Ô>íÜˆ "ºçßý$M>Ë §æþÆæÿØ @̄þ…' §éÓÆ> è̂þ*í³ @̄þ Ð@þ* @̄þÐ@þ çÜ…º…«§éÌñýsìýtÑ? 

 (b) Ð@þ$ @̄þ$ è̂þÇ{™èþÌZ° Mæü£æþ¯@þ$ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 

5. “Mìü…¨Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐ@þ*«§é¯éË$  {ÐéÄ¶ý$…yìþ. (2 × 6 = 12) 

 (a) Í…VæüÆ>k  (b) MæüÐ@þ$Ë 

 (c) {¿¶ýÐ@þ$Æ>…º  (d) ç³#Ææÿ$Úù™èþ¢Ð@þ$Æ>Ð@þ# 

6. “Mìü…¨Ðé°ÌZ JMæü§é°° Væü*Ça ÐéÅçÜ… {ÐéÄ¶ý$…yìþ.  (6) 

 (a) ç³Æ>ÅÐ@þÆæÿ×ý M>Ë$çÙÅ… 

 (b) Ð@þ$íßýâZ§æþ®Ææÿ×ý 

 (c) Ð@þ* @̄þÒÄ¶ý$ÑË$Ð@þË$ & BÐ@þÔ¶ýÅMæü™èþ 

7. (a) (i) “Mìü…¨ ç³§æþÅ´ë§é°Mìü Væü×ýÑ¿¶ýf @̄þ ó̂þíÜ, bèþ…§æþçÜ$Þ @̄þ$ Væü$Ç¢…_ Ä¶ý$†° õ³ÆöP @̄þ…yìþ.       (5) 

   ± ÑÐ@þ$Ë {ç³¿êÐ@þÐ@þ¬ @̄þ$ ±Ñ @̄þÄ¶ý*¨Mæü çÜ§æþ$Y×ý…º$Ë$¯Œþ 

 Ìôý§é 

  (ii) “Mìü…¨Ðé°ÌZ JMæü§é°Mìü Ýù§éçßýÆæÿ×ýÐ@þ¬V> Ë„æü×êÍ² ™ðþËµ…yìþ.  

   (1) Ô>Ææÿ*®ËÐ@þ¬  

   (2) Mæü…§æþ… 

 (b) (i) “Mìü…¨ ç³§æþÅ…ÌZ AË…M>Æ>°² ™ðþÍµ, Ë„æü×ý… ™ðþÍµ çÜÐ@þ$ @̄þÓÆÿ¬… è̂þ…yìþ.                   (5) 

   Gsêtyìþ @̄þ @̄þsêtyæþ$§æþ$  Çrtrt° ç³Ë$Mæü ¯ðþ‚ý$VæüÇ™èþÆæÿ$Ë ÕÔ¶ý$Ð@þ#ÌŒý  

 Ìôý§é 

  (ii) “Mìü…¨ AË…M>Æ>ËÌZ JMæü§é°Mìü Ýù§éçßýÆæÿ×ý…V> Ë„æü×ý… ™ðþËµ…yìþ. 
   (1) Eç³Ð@þ$  

   (2) AÆ>¦…™èþÆæÿ¯éÅçÜ      



   

  

 

 (DHIN 21 (NR)) 

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2019. 

Second Year 

(ii) HINDI PAPER – II (NR) 

Time : Three hours Maximum : 70 marks 

SECTION A  

1. zYåYzazHU mÚl§dl{ G$ln fàf§I ì_l»_l G$rzND&  (18) 

 (a) (i) fIv©Y G$r fncl G$`l¡, zY`IvY G$l G$ê$ ½_lY& 

   zYIv©Y fIv©Y Gn$ m ǹ, Ug¢ g^l`l Ü_lY&& 

(@Vcl) 

  (ii) @^` }nza z}Yv ^xa G$r, àzUmlaU Nln Ulpg& 

   `zg^Y Dnfn à]vqg UzN, HlnNU z[$Z`_n G$lpg&& 

 (b) (i) zG$aG$U G$lÝg JvRv=ê$czY @lcU& 

   ^zY^_ G$YG$ Y§W G¢$ @l§IY, p}} mG$Z`}¡ XlcU& 

   G$}gþ± zY`zH gZ` @lmv M=l±g G$l¡, G$` fl¢ mG$`Y LlgU& 

   zG$aG$r g±fU `lNU Wÿ± WzU_l±, mvzY-mvzY zUpg @cIlgU&  

   G$YG$-]xz^ m` G$`-mIM=lLl, _g Bm^l AG$ `lNzU& 

   G$Z`-G$Z` àzUmW mzU^Y }fvXl, G$^a }¡Q=G$r flNzU& 

   @±L`l U` a¡ S=l±zG$, fx̀  Gn$, à]v G$l¡ WÿX zm_lczU&& 

(@Vcl) 

  (ii) fUfA_l Gn$ Wlng ǹ @ê$ YlcG$ Gn$ Uq` 

   WnHY G$ln M=lnP=Y aI¡ Jlc G$ ¡̀ I§]q`&& 

 (c) (i) fvH-WþH Gn$ ^Xv̀  z^aY fn 



   

  

 

   _g NqcY gln mZ`mx̀ Y; 

   z[$` JY ^{ @lnOa gln dzd 

   z[$` dzd fn @l¡Oa gln XY& 

(@Vcl) 

  (ii) zNfG$r `N {̂ alnP=-alnP=-alnP= G$` }R=n gþD g¡; 

   XvP=Yl{ Gn$ }a f`G$-f`G$ G$` HR=n gþD g¢& 

SECTION B 

2. zG$fq DG$ G$zcUl G$l fl`l§d zazHD&  (10) 

 (a)  ]l`U ce©& 

 (b) ]l`U G$r zcXcl& 

 (c) fvH-WþH& 

3. zG$fq DG$ G$zc= G$l mZ`L_ WqzND&  (10) 

 (a)  G$}q`Wlf& 

 (b) ^¡zVaqd`T Ivá& 

 (c) fvz^ÌlY§WY m§U& 

4. zG$fq DG$ zce_ m` zY}§X zazHD&  (10) 

 (a)  m_l©c`T @l¡̀  àWÿeT& 

 (b) zcjlY fn glzY-al]& 

 (c) @mYl zà_ G$zc-UvafqWlf& 

 (d) flzgË_ @l¡̀  f^lN& 

 (e) }ǹ lnNIl`q G$r f^ñ_l& 

5. zG$fq DG$ flzgË_ zce_ m` zY}§X zazHD&  (10) 



   

  

 

 (a)  cq`IlVl G$laqY flzgË_ G$r à v̂H àc¥zÎl_l{ m` àG$ld R=lzaD& 

 (b) G¥$îT]zº$ dlHl Gn$ zcG$lf m` àG$ld R=laUn gþD fx̀ Wlf Gn$ ^gËc m` àG$ld R=lzaD& 

 (c) `qzUG$la Gn$ àzUzYzX G$zc Gn$ ê$m ^{ z}gl`q G$l x̂ë_l§G$Y G$rzND& 

 (d) YlP=G$ Gn$ zcG$lf m` DG$ anH zaHG$` Bf {̂ N_d§G$` àflW Nq Gn$ ñVlY G$ln zYXlZ`U 

G$rzND& 

6. zYåYzazHU IÚ G$l zgÝWq {̂ @YvclW G$rzND&  (12) 

 Only the lazy man is a sinner. The idle mind entertains bad ideas. There is a 

proverb that the idle mind is the devil’s workshop. There is no greater sin than laziness 

and inactivity. Every one should avoid these at any cost. The only way to avoid these is 

to engage one self is good deeds. Service to patients, help to brothers and sisters, co-

operation with friends, respect and service to teachers are deeds in which men should 

engage their mental faculties.  

_______________ 
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B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2019. 

Second Year 

(ii) SANSKRIT PAPER – II (NR) 

 

Time : Three hours                                                                            Maximum : 70 marks 

 

1. Answer any TWO questions.   (2 × 10 = 20) 

 Û_ln… BÎl §̀ zaHU& 

 

 (a) Sketch the character of Duryodhana as described in Urubhanga. 

  Wþ_l|XYñ_ dqa§ mlÌzLÌT§ Gv$éU> 

 (b) Sketch the character of Jeemutha Vahana as described by Sriharsha. 

  NqIxUclgYñ_ dqa§ mlÌzLÌT§ Gv$éU> 

 (c) Sketch the character of Baladeva. 

  }aWncñ_ mlÌzLÌT§ Gv$éU> 

 (d) Sketch the character of Sudama (Kuehela) as described in Sri Krishnasya 

Maitri. 

  Gv$Lnañ_ dqa§ mlÌzLÌT§ Gv$éU> 

 

2. (a) Describe how Viswamitra attained the status of Brahmarshi.  (10) 

  zcíclz^Ì… G$V§ }«g^ze©… @]xU²> zcdW_U> 

Or 

 (b)  Write the substance of the story  

           ‘‘z]eNln… ]¡eÁ_ ²̂’’? 

   z]eNln]¡eÁ_z^zU G$Vl_l… fl`l§d§ zaHU> 

  

  



   

 

 

3. Explain the FOUR of the following with reference to context.  (4 × 2 = 8) 

 LËclZ` ffÝW]ª ì_l»_lU& 

 (a)  fc©ñ_lä_lIUln Ivé…& 

 (b) dvGn$Y L mW§ få^lYp^W mQ²=_Un& 

 (c) @Ì fc| ^gl`lNñ_ z^ÌlzT Dc foÝU& 

 (d) mvÌdUzc^dl Wþ…zHU§ f^líclfl_& 

 (e) Yl`IT§ mzUU^vÛgUqc ]xz^…& 

 (f) flÝÐqG¥$U§ Y_Y}ÝXz^W§ WXlz^& 

 (g) ^Xv̀ z^c cWoÝU ñcIU§ k¥“dãW¡…& 

 

4. Write in brief note on any TWO.    (2 × 2 = 4)  

 Û_ln… aJvP=qG$l§ zaHU& 

 (a)  ]l`zc   (b) kqge©… 

 (c)  ]Å=Yl`l_T  (d) d§G$`lLl_©& 
  

5. Define and illustrate any TWO Alankaras.    (2 × 4 = 8)  

 Û_ln… aú_ aiT f^oÝcU§ @a‘=l`lzT zaHU& 

 (a)  Bm^l   (b) WqmG$^² 

 (c)  @Vl©ÝU`Ý_lf… (d) B„nH& 

  

6. Write the forms of any FOUR of the following Sabdas.    (4 × 2 = 8)  

 LËclZ` zYzW©ï= zG«$_lzº$ev dãWê$mlzT zaHU& 

 (a)  Na^vG²$ (U¥Uq_l) (b) clG²$ (àV^l) 

 (c)  IvzTY² (LUvVt) (d) @ñ^W² (àV^l) 

 (e)  AW ²̂ (m#l^q) (mv§) (f) UW² (mv§) (fá^q) 

 (g)  DUW² (óq) (eð=q) (h) zG$^² (mv§) (eð=q) 

 

 



   

 

 

7. Write the forms of any FOUR of the following adding the given terminations. 

       (4 × 1 = 4)  

 LUvTlª UÎlàË__lU² _lnNz_Ëcl zaHU& 

 (a)  kv+ Uì_  (b) I^² + Uv̂ vY² 

 (c)  G$V² + ŠËcl  (d) Ñzd ²̀ + dU¥ 

 (e)  Nq + Uì_  (f) ]v + ŠU 

 (g)  zc + zY + ë_m² (h) IT² + Uv̂ vY²&  

 

8. Translate any FOUR Sentences into Telugu or English.   (4 × 2 = 8) 

 LUvTlª @lÝX«]lel_l§ cl @l§“a]lel_l§ @YvclWU& 

 (a)  kq`l^LÝÐñ_ zmUl Wd`V…& 

 (b) zcÚlclY² a]Un jlY ²̂& 

 (c) ^lU¥Wncln ]c, zmU¥Wncln]c& 

 (d) @g§ àzUzWY§ mlQ=dlal IÀM=lz^& 

 (e) fqUl NYG$ñ_ mvÌq& 

 (f) zcÛlY² fc©Ì mxÁ_Un& 

 (g) f§ñG¥$UnY få]leT§ Gv$ê$& 

 (h) X^l| `izU `ziU…& 

_______________ 
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B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2019. 

Second Year  

ENVIRONMENTAL STUDIES 

Time : Three hours                                                                           Maximum : 100 marks 

SECTION A — (4 × 10 = 40 marks) 

Answer any FOUR of the following. 

Each question carries 10 marks. 

1. Write the aims and objects of environmental studies. 

 ç³Æ>ÅÐèþÆæÿ×ý A«§æþÅÄæý$¯èþ… Äñý$$MæüP Ë„>ÅË$ Ðèþ$ÇÄæý$$ BÔèýÄæý*Ë¯èþ$ {ÐéÄæý$…yìþ. 

2. Important mineral resources of our country – Discuss. 

 Ðèþ$¯èþ§óþÔèý…ÌZ VæüË Ðèþ$$QÅÐðþ$O¯èþ Q°f Ðèþ¯èþÆæÿ$Ë¯èþ$ Væü*Ça è̂þÇa…^èþ…yìþ. 

3. Define food chain and explain food web. 

 BàÆæÿç³#  VöË$çÜ$ Ðèþ$ÇÄæý$$ BàÆæÿç³# ÐèþË¯èþ$ °ÆæÿÓ_…_ ÑÐèþÇ…^èþ…yìþ. 

4. Describe grass land ecosystem. 

 Væüyìþz Ððþ$O§é¯èþ BÐèþÆæÿ×ý ÐèþÅÐèþçÜ¦¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

5. Economical role of bio-diversity. 

 iÐèþÐðþOÑ§æþÅ… Äñý$$MæüP BÇ¦Mæüç³ÆæÿÐðþ$O¯èþ ´ë{™èþ¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

6. Explain secondary pollutants with suitable examples and effects. 

 çÜÆðÿO¯èþ E§éçßýÆæÿ×ýË™ø ¨Ó¡Äæý$ M>Ë$çÙÅ M>ÆæÿM>Ë¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

7. Coastal zone management and sustainable tourism. Explain. 

 ¡Ææÿ {´ë…™éË °ÆæÿÓçßý×ý Ðèþ$ÇÄæý$$ çÜ$íÜ¦Ææÿ ç³Æ>ÅrMæü Ææÿ…Væü…¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

8. Ozone whole depletion and acid rains – Explain. 

 KgZ¯Œþ´÷Ææÿ „îü×ý™èþ Ðèþ$ÇÄæý$$ BÐèþ$Ï ÐèþÆæÿÛÐèþ$$Ë¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

 



   

  

SECTION B — (3 × 20 = 60 marks) 

Answer any THREE of the following. 

Each question carries 20 marks. 

9. Explain the economical and ecological role of forest resources. 

 ArÒ Ðèþ¯èþÆæÿ$Ë Äñý$$MæüP BÇ¦Mæü Ðèþ$ÇÄæý$$ BÐèþÆæÿ×ý çÜ…º…«§æþ ´ë{™èþË¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

10. Give an account on the structure and functions of an ecosystem. 

 BÐèþÆæÿ×ý ÐèþÅÐèþçÜ¦ Äñý$$MæüP °Æ>Ã×ýÐèþ$$ Ðèþ$ÇÄæý$$ Ñ«§æþ$Ë¯èþ$ ™ðþËç³…yìþ. 

11. Define succession and write its mechanism. 

 A¯èþ${MæüÐèþ$Ðèþ$$¯èþ$ °ÆæÿÓ_…_, A¯èþ${MæüÐèþ$ Ñ«§é¯èþÐèþ$$¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

12. Why India is called as mega diversity region? 

 ¿êÆæÿ™èþ§óþÔèýÐèþ$$¯èþ$ Ððþ$V> ÐðþOÑ§æþÅ §óþÔèýÐèþ$$V> G…§æþ$Mæü$ í³Ë$Ýë¢Ææÿ$? 

13. Give an account on the sources of effects and control measures of air pollution. 

 ÐéÄæý$$ M>Ë$çÙÅ M>ÆæÿM>Ë$, {ç³¿êÐéË$ Ðèþ$ÇÄæý$$ °Äæý$…{™èþ×ý ç³§æþ®™èþ$Ë¯èþ$ ™ðþËç³…yìþ. 

14. What are the various steps involved in the preparation of EIA report? 

 ç³Æ>ÅÐèþÆæÿ×ê°² {ç³¿êÑ™èþ… ^óþõÜ A…Ô>Ë Äñý$$MæüP ç³ÇÖË¯èþ °Ðóþ¨Mæü ™èþÄæý*ÈÌZ VæüË ÑÑ«§æþ §æþÔèýË¯èþ$ 
™ðþÍí³ ÑÐèþÇ…^èþ…yìþ.  

–––––––––––––––– 
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B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2019. 

Second Year 

(iii) SCIENCE & CIVILIZATION 

Time : 1½ hours Maximum : 50 marks 

SECTION A — (2 × 13 = 26 marks) 

Answer any TWO questions. 

1. Give an account on the significance discoveries in the medical field during 20th 

Century. 

 20 Ð@þ Ô¶ý™éºª…ÌZ OÐðþ§æþÅÆæÿ…Væü…ÌZ Væü$Ç¢…_ @̄þ {´ëÐ@þ¬QÅ™èþ @̄þ$ Væü$Ç…_ JMæü ÐéÅçÜÐ@þ¬ {ÐéÄ¶ý¬Ð@þ¬. 

2. Express significance of communication and its sources. 

 ¿êÐ@þ{ç³ÝëÆæÿÐ@þ¬ Äñý¬MæüP {´ëÐ@þ¬QÅ™èþ Ð@þ$ÇÄ¶ý¬ §é° B«§éÆæÿÐ@þ¬Ë @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

3. Explain the problem with conventional energy sources with suitable examples. 

 ™èþW @̄þ E§éçßýÆæÿ×ýË™ø çÜ…{ç³§éÄ¶ý$ Ô¶ýMìü¢Ð@þ @̄þÆæÿ$Ë™ø çÜÐ@þ$çÜÅË @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

4. Describe some society goals. 

 Mö°² ÝëÐ@þ*hMæü Ë„>ÅË @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬.  
 SECTION B — (3 × 4 = 12 marks) 

 Answer any THREE questions. 

5. (a) X' ray 

  GMŠüÞÆóÿ 

 (b) Copper age 

  Æ>†Ä¶ý¬VæüÐ@þ¬ 

 (c) Steam Engine 

  BÑÇÄ¶ý$…{™èþÐ@þ¬  

 (d) Purification of Metals 

  ÌZçßýÐ@þ¬Ë Äñý¬MæüP Ô¶ý$©®MæüÆæÿ×ý 

 (e) Radio 

  ÆóÿyìþÄñý* 

 (f) Equinoxes 

  DMìüÓ¯éMŠüÞË$ 



  

   

  

 SECTION C — (3 × 4 = 12 marks) 

 Answer ALL questions. 

6. Fill in the blanks :- 

 RêäË¯èþ$ ç³NÇ…^èþ$Ðèþ$$. 

 (a) _____ invented Radio. 

  _____ ÆóÿyìþÄñý* @̄þ$ Mæü @̄þ$Vö ð̄þ @̄þ$. 

 (b) ILO means _____. 

  I.GÌŒý.K A @̄þV> _____. 

 (c) Fertilizers are used in _____. 

  GÆæÿ$Ð@þ#Ë$ §óþ°Mìü Eç³Äñý*WÝë¢Ææÿ$ _____. 

 (d) Blue revolution is related to _____. 

  ±ÍÑç³ÏÐ@þ… Ðóþ°Mìü çÜ…º…«̈ …_ @̄þÑ _____. 

7. Choose the correct word. 

 çÜÇÄñý$Ō èþ ç³§æþÐèþ$$Ë¯èþ$ Væü$Ç¢…^èþ$Ðèþ$$. 

 (a) X' ray passes through 

  GMŠüÞÆóÿ ©°Væü$…yé  Ððþâ¶ý$™èþ$…¨ 

  (i) Bones (ii) Body  
   GÐ@þ¬MæüË$  Ô¶ýÈÆæÿ… 

  (iii) Muscles (iv) Veins 
   Mæü…yæþÆ>Ë$  íÜÆæÿË$ 

 (b) Vaccination is given for 

  sîýM> §óþ°MøçÜ… CÐ@þÓºyæþ$ @̄þ$ 

  (i) B.P.  (ii) Polio  
   ¼.í³   ´ùÍÄñý* 

  (iii) Sugar (iv) Paralysis 
   è̂þMðüPÆæÿÐéÅ«̈   ò³Æ>ÍÞ‹Ü (ç³„æüÐé™èþ…) 

 (c) Who invented Telephone 

  sñýÍ¸ù Œ̄þ @̄þ$ GÐ@þÆæÿ$ Mæü @̄þ$Vö¯é²Ææÿ$ 

  (i) Graham bell (ii) Thomas 
   “V>çßý…»ñýÌŒý  ™öÐ@þ$‹Ü 

  (iii) Flemming (iv) Henry Fayol 
   òœÏÑ$Ã…VŠü  òßý{± çœÄæý$ÌŒý  



  

   

  

 (d) Green Revolution is related 

  çßýÇ™èþ Ñç³ÏÐ@þÐ@þ¬ ©°Mìü çÜ…º…«̈ …_ @̄þ¨ 

  (i) Agriculture (ii) Animal husbandry  
   Ð@þÅÐ@þÝëÄ¶ý$Ð@þ¬  ç³Ô¶ý$´ëË @̄þ  

  (iii) Green colour (iv) Operation 
   ç³ è̂þaÆæÿ…Væü$  Bç³ÆóÿçÙ Œ̄þ  

8. Match the following :- 

 f™èþç³Ææÿ^èþ$Ðèþ$$ :& 

 (a) Television  (i) Bamboo 
  sñýÍÑf Œ̄þ   Ððþ§æþ$Ææÿ$ 

 (b) Paper  (ii) Charles Babbage 
  õ³ç³Ææÿ$    ^éÆðÿÏ‹Ü »ê»ôýgŒý  

 (c) Insulin  (iii) Communication 
  C @̄þ$ÞÍ¯Œþ   ¿êÐ@þ{ç³ÝëÆæÿÐ@þ¬ 

 (d) Computer  (iv) Diabetic 
  Mæü…ç³NÅrÆŠÿ   è̂þMðüPÆæÿÐéÅ«̈  

———————— 
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B.Com. DEGREE EXAMINATION, DECEMBER 2019. 

Second Year  

BANKING AND FINANCIAL SYSTEMS 

Time : Three hours  Maximum : 70 marks 

SECTION A — (4  3 = 12 marks) 

Answer any FOUR of the following questions. 

1. Investment Banking. 

 

2. Unorganised Sector Banking. 

 

3. ICICI. 

 

4. Life insurance. 

 

5. Features of pass book. 

 

6. Endorsement. 

 

7. Merchant Banking. 

 

8. Crossing of cheques. 

 

 



SECTION B — (2  8 = 16 marks) 
Answer any TWO of the following questions. 

9. Define Unit Banking. Write the advantages. 

 

10. Functions of state finance corporation. 

 

11. What are the essential features of Endorsement and Crossing? 

 

12. Discuss various types of Lien. 

 

SECTION C — (3  14 = 42 marks) 
Answer any THREE of the following questions. 

13. Define commercial bank. Explain the achievements of commercial banks after 
nationalisation. 

 

14. Explain briefly the steps to bring the indigenous bankers under the influence of 
the RBI. 

 RBI 

15. Explain the term 'Collecting Banker'. What are his duties and responsibilities? 

 

16. Write in brief the characteristics of Indian Money Market. Also state its role in 
Economy. 

 

17. Differentiate between mortgage, pledge and hypothecation. Also explain as a 
banker which do you prefer as a security. 

 

18. Trace out the origin, structure and functions of development financial institutions. 
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B.Com. DEGREE EXAMINATIONS, DECEMBER 2019. 

Second Year 

FINANCIAL ACCOUNTING – II 

Time : Three hours                                                                                Maximum : 70 marks 

SECTION A — (4  3 = 12 marks) 

Answer any FOUR of the following questions. 

1. Features of Hire Purchase System. 
 A§ðþª Mö¯@þ$VøË$ ç³§æþ®† Ë„æü×êË$. 

2. Profit and loss appropriation A/c. 
 Ìê¿¶ý¯@þÚëtË Ñ°Äñý*W™èþ Rê™é. 

3. Creation of good will. 
 Væü$yŠþÑÌŒý¯@þ$ çÜ–íÙt…^èþyæþ…. 

4. Calls in arrears and calls in advance. 
 Ð@þ¬…§æþ$V> Ð@þ_a¯@þ í³Ë$ç³#Ë$ Ð@þ$ÇÄ¶ý¬ í³Ë$ç³#ËÌZ ºM>Æÿ¬Ë$. 

5. Difference between Single Entry and Double Entry. 
 J…sìýç³§æþ$ª Ñ«§é¯@þ… & f…r ç³§æþ$ª Ñ«§é¯@þ… Ð@þ$«§æþÅ VæüË ™óþyéË$. 

6. Objectives of Branch accounts. 
 {»ê…_ Rê™éË$, «§óþÅÄ¶ý*Ë$. 

7. Features of income and Expenditure A/c. 
 B§éÄ¶ý$ &Ð@þÅÄ¶ý*Ë Rê™é Ë„æü×êË$. 

8. Fixed–Fluctuating Capital methods. 
 íÜ¦Ææÿ & è̂þÆæÿ Ð@þÊË«§æþ¯@þ Rê™éË ç³§æþ®†. 

 SECTION B — (2  8 = 16 marks) 

 Answer any TWO of the following questions. 

9. X Ltd. Sold a motor cycle on installment system to Y Ltd. On 1–1–2003, The cash 
price was Rs.7,450. Rs.2000 to be paid on delivery and the balance in the three 
installments of Rs.2000 cash at the end of the year. The rate of interest was 5% p.a 
Buyer depreciates the asset at 10% p.a on reducing installments basis. Write 
entries in books of buyer. 

 X Ltd., Y Ltd. Mæü$  JMæü Ððþ*sêÆæÿ$ OòÜMìüË$¯@þ$ 1.1.2003 ¯éyæþ$ ÐéÆÿ¬§éË ç³§æþ®†Oò³ AÐ@þ$ÃMæü… ^óþíÜ…¨. 
§é° ¯@þVæü§æþ$ «§æþÆæÿ  Ææÿ*.7450. ™èþ„æü×ý ^ðþÍÏ…ç³# Ææÿ*. 2000 M>V> Ñ$WÍ¯@þ¨ Ææÿ*. 2000 ^öç³š¯@þ  
Ð@þÊyæþ$ ÐéÆÿ¬§éËÌZ çÜ…Ð@þ™èþÞÆæÿ…ÌZç³# ^ðþÍÏ…^èþÐ@þËíÜ E…r$…¨. Ð@þyîþzÆóÿr$ çÜ…Ð@þ™èþÞÆ>°Mìü 5% 
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Mö¯@þ$VøË$§éÆæÿ$ BíÜ¢° çÜ…Ð@þ™èþÞÆ>°Mìü 10% ^öç³š¯@þ ™èþVæü$Y™èþ$¯@þ² °ËÓË ç³§æþ®†Oò³ ™èþÆæÿ$Væü$§æþË ÌñýMìüPÝë¢Ð@þ¬. 
Mö¯@þ$VøË$§éÆæÿ$° ç³#çÜ¢M>ËÌZ AÐ@þçÜÆæÿOÐðþ$¯@þ ç³§æþ$ªË$ {ÐéÄ¶ý$…yìþ. 

10. The assets and liabilities of Sridhar, a sole trader, on 31.12.2014 and 31.12.2015 
were as follows. 

Particulars 31–12–14 31–12–15 
Bank A/c 5,000 8,500 
Investments 10,000 10,000 
Sundry Debtors 14,000 14,000 
Bills receivables 7,400 7,400 
Stock in Trade 27,000 38,000 
Buildings 40,000 50,000 
Creditors 12,000 10,500 
Bank loan 5,700 6,000 

 Additional Information :  

 (a) Additional Capital introduced during the year Rs.12,000. 

 (b) Drawings taken from the business Rs.6,700. 

 Prepare Statement of affairs and Statement for profit or loss for the year ending 
31–12–2015 in the books of Sridhar. 

 Ý÷…™èþÐéÅ´ëÇ }«§æþÆŠÿ J…sìýç³§æþ$ª Ñ«§é¯@þ…ÌZ ç³#çÜ¢M>Ë$ {ÐéÄ¶ý¬^èþ$¯é²yæþ$. A™èþ° BíÜ¢ & Aç³šË$ ÑÐ@þÆ>Ë$ 
 31.12.2014 Ð@þ$ÇÄ¶ý¬ 31.12.2015 ™óþ©ËÌZ “Mìü…¨Ñ«§æþ…V> E¯@þ²¨.  
ÑÐ@þÆ>Ë$ 31–12–14 31–12–15 

»êÅ…Mæü$Rê™é 5,000 8,500 

ò³r$tºyæþ$Ë$ 10,000 10,000 

º¬×ý“VæüçÜ$¢Ë$ 14,000 14,000 

Ð@þçÜ*Ë$çßý…yîþË$ 7,400 7,400 

çÜÆæÿ$Mæü$ °ËÓ 27,000 38,000 

¿¶ýÐ@þ¯éË$ 40,000 50,000 

º¬×ý§é™èþË$ 12,000 10,500 

»êÅ…Mæü$ÌZ Aç³š 5,700 6,000 

 A§æþ¯@þç³# çÜÐ@þ*^éÆæÿ… : 
 (a) çÜ…Ð@þ™èþÞÆæÿM>Ë…ÌZ çÜÐ@þ$Mæü*Ça¯@þ A§æþ¯@þç³# Ð@þÊË«§æþ¯@þ… Ææÿ*. 12,000 

 (b) Ý÷…™èþÐéyæþM>Ë$ Ææÿ*. 6,700 
 Ð@þÅÐ@þàÆæÿ °Ðóþ¨MæüË$, Ìê¿¶ý¯@þÚëtË °Ðóþ¨Mæü 31.12.2015 ™óþ©™ø A…™èþÐ@þ$Äôý$Å çÜ…‘‘Mìü ™èþÄ¶ý*Ææÿ$^óþÄ¶ý$…yìþ. 

11. The following was the balance sheet of A, B and C on 1st June 2006. 

Liabilities Amount Assets Amount 
Bill payable 3,300 Cash 600 
Creditors 6,000 Debtors 10,800 
Capitals  Stock 11,400 
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A 16,800 Furniture 2,400 
B 12,600 Building 19,500 
C 6,000   

 44,700  44,700 

 They agreed to take X into partnership on the following terms. 

 (a) The X Should bring Rs.15,000 on Capital and Rs.9,000 for goodwill 

 (b) That goodwill amount should not be left in the business. 

 (c) That stock and furniture be depreciated by 10% 

 (d) That reserve of 5% on debtors be created for doubtful debts. 

 (e) That the value of building should be raised on Rs.27,000. Write necessary 
entries and prepare necessary account and show the opening balance sheet of 
the firm.  

 l¯Œþ 1, 2006 A, B Ð@þ$ÇÄ¶ý¬ C  Ë BíÜ¢ Aç³šË ç³sìýt “Mìü…§æþ Ñ«§æþ…V> E…¨. 
Aç³šË$ Ððþ¬™èþ¢… BçÜ$¢Ë$ Ððþ¬™èþ¢… 

^ðþ‘‘çßý*…yîþË$ 3,300 ¯@þVæü§æþ$ 600 

º¬×ý§é™èþË$ 6,000 º¬×ý“VæüçÜ$¢Ë$ 10,800 

Ð@þÊË«§æþ¯@þ…  çÜÆæÿ$Mæü$ 11,400 

A 16,800 çœÇ²^èþÆŠÿ  2,400 

B 12,600 ¿¶ýÐ@þ¯éË$ 19,500 

C 6,000   
 44,700  44,700 

 “Mìü…¨ °º…«§æþ¯@þËMæü$ ÌZºyìþ X ¯@þ$ ¿êVæüçÜ$¢°V> ^óþÆæÿ$aMö¯@þ$rMæü$ A…XMæüÇ…_…¨.  
 (a) X  Ææÿ*. 15,000 Ð@þÊË«§æþ¯@þ… “Mìü…§æþ Ææÿ*. 9,000 Væü$yŠþÑÌŒý  “Mìü…§æþ ¡çÜ$Mæü$° Æ>Ð@þÌñý¯@þ$. 
 (b) Væü$yŠþÑÌŒý Ððþ¬™èþ¢… ÐéÅ´ëÆæÿ…ÌZ E…^èþÆ>§æþ$. 
 (c) Ð@þ¬W…ç³# çÜÆæÿ$Mæü$, çœÇ²^èþÆŠÿ ÑË$Ð@þË$ 10% ™èþWY…^éÍ. 
 (d) º¬×ý“VæüçÜ$¢ËOò³ 5% Æ>° »êMîüË$°«̈  E…^èþÐ@þÌñý¯@þ$. 
 (e) ¿¶ýÐ@þ¯éË$ ÑË$Ð@þË$ Ææÿ*. 27,000 Mæü$ ò³…^èþÐ@þÌñý¯@þ$. 
 Oò³ çÜÆæÿ$ª»êr$Mæü$ AÐ@þçÜÆæÿOÐðþ$¯@þ _sêtç³§æþ$ªË$ {ÐéíÜ AÐ@þçÜÆæÿOÐðþ$¯@þ Rê™éË¯@þ$ ™èþÄ¶ý*Ææÿ$^óþíÜ ¯@þ*™èþ¯@þ 

¿êVæüÝëÓÐ@þ$Åç³# BíÜ¢   ™èþç³šË ç³sîýt° ™èþÄ¶ý*Ææÿ$^óþÄ¶ý$…yìþ.  

12. From the following particulars, Prepare Receipts and Payments account. 

 Rs. 
Cash in hand 500 
Cash at bank 600 
Rent paid 400 
Subscription received 3,100 
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Interest received 200 
Investment purchased 500 
Postage 100 
Cash balance at close 50 
General Expenses 150 
Tournament Expenses 200 

 D “Mìü…¨ ÑÐ@þÆ>Ë™ø Ð@þçÜ*â¶ý$å Ð@þ$ÇÄ¶ý¬ ^ðþÍÏ…ç³#Ë Rê™é¯@þ$ ™èþÄ¶ý*Ææÿ$^óþÄ¶ý$…yìþ. 
 Ææÿ*. 
^óþ†ÌZ ¯@þVæü§æþ$ 500 
»êÅ…Mæü$ÌZ ¯@þVæü§æþ$ 600 
^ðþÍÏ…_¯@þ A§ðþª 400 
Ð@þçÜ*OÌñý¯@þ ^èþ…§é 3,100 
ç³#^èþ$aMö°¯@þ Ð@þyîþz 200 
ò³r$tºyìþ Mö¯@þ$VøË$ 500 
´ùõÜth 100 
Ð@þ¬W…ç³# ¯@þVæü§æþ$ °ËÓ 50 
Ýë«§éÆæÿ×ý QÆæÿ$aË$ 150 
rÆø²Ð@þÆŠÿ QÆæÿ$aË$ 200 

 SECTION C — (3  14 = 42 marks) 

 Answer any THREE of the following questions. 

13. PQR Ltd. issued 10000 – 10% debentures at Rs.1,000 each pass necessary Journal 
entries in the following cases. 

 (a) Debentures issued at Rs.950 repayable of Rs.1,000 each. 

 (b) Debentures issued at Rs.950 repayable of Rs.1,050 each. 

 (c) Debentures issued at Rs.1000 repayable of Rs.1,050 each. 

 (d) Debentures issued at Rs.1050 repayable of Rs.1,000 each. 

 PQR Ltd., 10% yìþÝûP…sŒýÌZ 10000 yìþ»ñý…^èþÆæÿ$Ï gêÈ^óþíÜ¯@þ Ðésê AçÜË$«§æþÆæÿ 1000 ÑÐðþ*^èþ¯@þ 
çÜ…§æþÆæÿÂ…ÌZ  _sêtç³§æþ$ªË$ {ÐéÄ¶ý$…yìþ? 

 (a) 1,000 Mæü$ ÑÐðþ*^èþ¯@þ… ó̂þõÜ HÆ>µr$ Ð@þ§æþª yìþ»ñý…^èþÆæÿ$ 950 Mæü$ gêÈ 
 (b) 1,050 Mæü$ ÑÐðþ*^èþ¯@þ… ó̂þõÜ HÆ>µr$ Ð@þ§æþª yìþ»ñý…^èþÆæÿ$Mæü$ 950 Mæü$ gêÈ 
 (c) 1,050 Mæü$ ÑÐðþ*^èþ¯@þ… ó̂þõÜ HÆ>µr$ Ð@þ§æþª yìþ»ñý…^èþÆæÿ$Mæü$ 1,000 Mæü$ gêÈ 
 (d) 1,000 Mæü$ ÑÐðþ*^èþ¯@þ… ó̂þõÜ HÆ>µr$ Ð@þ§æþª yìþ»ñý…^èþÆæÿ$Mæü$ 1,050 Mæü$ gêÈ 

14. X, Y and Z are partners sharing profit and loss equally. Their balance sheet as 
follows : 

Liabilities Rs. Assets Rs. 
Creditors 70,000 Bank 1,20,000 
Reserves 60,000 Debtors 80,000 
X-Capital 2,00,000 Machinery 1,50,000 
Y-Capital 1,50,000 Closing stock 70,000 
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Z-Capital 1,00,000 Investments 1,60,000 
 5,80,000  5,80,000 

 Mr. Z decided to retire the business on the following conditions: 
 (a) Goodwill of the firm valued at Rs.45,000. 
 (b) Depreciate machinery at 10% 
 (c) Closing stock revalued at Rs.85,000 
 (d) Bad debts on debtors Rs.3,000 
  Prepare necessary accounts and new balance sheet. 

 JMæü ¿êVæüÝëÓÐ@þ$Å…ÌZ X, Y Ð@þ$ÇÄ¶ý¬ Z A¯óþ ¿êVæüçÜ$¢Ë$ çÜÐ@þ*¯@þ…V> Ìê¿¶ý¯@þÚëtË$ ç³…^èþ$Mö…sêÆæÿ$. ÐéÇ 
BíÜ¢ Aç³šË  ç³sîýt D“Mìü…¨ Ñ«§æþ…V> E¯@þ²¨. 
Aç³šË$ Ææÿ*. BçÜ$¢Ë$ Ææÿ*. 
º¬×ý§é™èþË$ 70,000 »êÅ…Mæü$ 1,20,000 

ÇfÆæÿ$ÓË$ 60,000 º¬×ý“VæüçÜ$¢Ë$ 80,000 

X Ð@þÊË«§æþ¯@þ… 2,00,000 Ä¶ý$…{™éË$ 1,50,000 

Y Ð@þÊË«§æþ¯@þ… 1,50,000 Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ 70,000 

Z Ð@þÊË«§æþ¯@þ… 1,00,000 ò³r$tºyæþ$Ë$ 1,60,000 

 5,80,000  5,80,000 

 ÐéÅ´ëÆæÿ… ¯@þ$…_ Z ÑÆæÿÑ$…^èþ$Mø§æþË^ðþ¯@þ$. D“Mìü…¨ °º…«§æþ¯@þË$ ´ësìý…^èþÐ@þÌñý¯@þ$.  
 (a) çÜ…çÜ¦ Væü$yŠþÑÌŒý Ææÿ*. 45,000 Ë$V> ÑË$Ð@þ MæüsêtÆæÿ$ 
 (b) Ä¶ý$…{™èþÐ@þ¬Oò³ 10% ™èþÆæÿ$Væü$§æþË MæüË§æþ$ 
 (c) Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ ç³#¯@þÆæÿ*ÃÌêÅ…Mæü¯@þ ÑË$Ð@þ Ææÿ*. 85,000 Ë$V> °Ææÿ~Æÿ¬…^éÆæÿ$ 
 (d) º¬×ý“VæüçÜ$¢ËOò³ Æ>° »êMîüË$ Ææÿ*. 3,000 

  AÐ@þçÜÆæÿOÐðþ$¯@þ Rê™éË$ Ð@þ$ÇÄ¶ý¬ Mö™èþ¢ BíÜ¢ & Aç³šË ç³sîýt ™èþÄ¶ý*Ææÿ$^óþÄ¶ý$…yìþ.  

15. Jain Bros. had a Branch at Kolkata. Goods are invoiced to the branch at cost plus 
25% Branch is instructed to deposit cash everyday in the head office account in the 
bank. All expeses are paid by the branch manager from the following particulars, 
Prepare branch account in the books of head office. 

Stock on 1.1.2015 2500 Furniture purchased by the branch 
manager 

1200 

Stock on 31.12.2015 3000 Goods invoiced from the head office 18200 
Sundry debtors on 1.1.15 1400 Expenses paid by the Head office 1640 
Sundry debtors on 
31.12.15 

1800 Head office sent cash to purchase sale 
for the branch 

1300 

Cash sale for the year 10800 Expenses paid by the branch 120 
Credit sales for the year 7000   
Cash remitted to the 
head office 

15000 
  

 Ogñý¯Œþ {º§æþÆŠÿÞ ÐéÇMìü MæüËMæü™é¢ÌZ {»ê…_ MæüË§æþ$. {»ê…^ŒþMìü çÜÆæÿ$Mæü$Ë¯@þ$ QÈ§æþ$ 25% V> C¯éÓÆÿ¬‹Ü ç³…í³Ç. 
{ç³†Æøk òßýyŠþ BïœçÜ$ Äñý¬MæüP »êÅ…Mæü$ Rê™éÌZ ¯@þVæü§æþ$ yìþ´ëhsŒý ^óþÄ¶ý*ÍÞ…¨V> {»ê…^ŒþMìü B§óþÔ>Ë$ 
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ç³…í³Ç. A°² QÆæÿ$aË¯@þ$ {»ê…_ Ðóþ$¯óþfÆŠÿ ^ðþÍÏÝë¢yæþ$. “Mìü…¨ ÑÐ@þÆ>Ë™ø òßýyŠþ BïœçÜ$ ç³#çÜ¢M>ËÌZ {»ê…^Œþ 
Rê™é¯@þ$ ™èþÄ¶ý*Ææÿ$^óþÄ¶ý$…yìþ. 
çÜÆæÿ$Mæü$ 1.1.2015 ¯ésìýMìü 2500 {»ê…^Œþ Ðóþ$¯óþfÆŠÿ Mö¯@þ$VøË$ ^óþíÜ¯@þ çœÇ²^èþÆŠÿ 1200 

çÜÆæÿ$Mæü$ 31.12.2015 ¯ésìýMìü 
3000 

òßýyŠþ Bïœ‹Ü ¯@þ$…_ C¯éÓÆÿ¬‹Ü ^óþÄ¶ý$ºyìþ¯@þ 
çÜÆæÿ$Mæü$Ë$ 

18200 

ÑÑ«§æþ º¬×ý“VæüçÜ$¢Ë$ 1.1.15 1400 òßýyŠþ BïœçÜ$ ^ðþÍÏ…_¯@þ QÆæÿ$aË$ 1640 

ÑÑ«§æþ º¬×ý“VæüçÜ$¢Ë$ 31.12.15 1800 õÜ‹œ Mö¯@þ$VøË$Oò³ òßýyŠþBïœ‹Ü ç³…í³¯@þ ¯@þVæü§æþ$ 1300 

B çÜ…Ð@þ™èþÞÆæÿ…ÌZ ¯@þVæü§æþ$ 
AÐ@þ$ÃM>Ë$ 10800 

{»ê…^Œþ ^ðþÍÏ…_¯@þ QÆæÿ$aË$ 120 

B çÜ…Ð@þ™èþÞÆæÿ…ÌZ AÆæÿ$Ð@þ# 
AÐ@þ$ÃM>Ë$ 7000 

  

òßýyŠþ BïœçÜ$Mæü$ ç³…í³¯@þ ¯@þVæü§æþ$ 15000   

16. Birla company Ltd issued 10,000 equity shares of Rs.100 each payable Rs.20 on 
application. Rs.40 on allotment Rs.30 on first call and Rs.10 on final call. All the 
shares were subscribed and the amount duly received. Pass necessary journal 
entries in the books of the company. 

 ¼Æ>Ï Mæü…ò³± 10,000 DMìüÓsîýÐésêË$ Ðésê JMìüP…sìýMìü Ææÿ*. 100 ^öç³š¯@þ gêÈ ^óþòÜ¯@þ$. ^ðþÍÏ…ç³#Ë$ 
“Mìü…¨Ñ«§æþ…V> MæüËÐ@þ#.  
§æþÆæÿRêçÜ$¢ËOò³ ^ðþÍÏ…ç³# Ææÿ*. 20  
MóüsêÆÿ¬…ç³#Oò³ Ææÿ*. 40   
Ððþ¬§æþsìý í³Ë$ç³# Ææÿ*. 30  
Æðÿ…yæþÐ@þ ™èþ$¨í³Ë$ç³#Oò³ Ææÿ*. 10 
ÐésêË$ A±² ^èþ…§é AÆÿ¬¯@þÑ ç³NÇ¢V> ^ðþÍÏ…ç³#Ë$ fÇW¯èþÑ. Mæü…ò³± ç³#çÜ¢M>ËÌZ AÐ@þçÜÆæÿOÐðþ$¯@þ 
_sêtç³§æþ$ªË$ {ÐéÄ¶ý$…yìþ.  

17. Prepare Income and Expenditure A/c and the balance sheets from the following 
receipts and payments A/c for the year ending 31.12.2015. 

Dr Receipts Rs. Payments Rs. 
1-01-2015  31-12-2015  
To Bank A/c 15,300 By Salaries 11,000 
31-12-2015  By Stationery 2,700 
To Subscriptions 12,500 By Repairs 3,200 
To Donations 7,900 By Office Expenses 4,100 
To Lokers rent 3,800 By Machinery 14,000 
To sale of old furniture 6,200 By investments 8,000 
To Legacies 10,000 By Balance c/d 17,000 
To Entrance fees 4,300   
 60,000  60,000 

 Adjustment: 

 (a) Subscriptions outstanding for 2015 Rs.1,500 and received in advance Rs.800. 

 (b) Outstanding salaries Rs.3,000 
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 (c) Depreciation on machinery was Rs.1,000. 

 (d) Interest due on investments was Rs.500. 

 ¨Væü$Ð@þ C_a¯@þ Ð@þçÜ*Ë$ ^ðþÍÏ…ç³#Ë$ Rê™é 31.12.2015 ¯@þ$…_ B§éÄ¶ý$Ð@þÅÄ¶ý*Ë Rê™é Ð@þ$ÇÄ¶ý¬ BíÜ¢ 
& Aç³šË ç³sîýt° ™èþÄ¶ý*Ææÿ$^óþÄ¶ý$…yìþ.  

Ð@þçÜ*â¶ý$å Ææÿ*. ^ðþÍÏ…ç³#Ë$ Ææÿ*. 
1-01-2015  31-12-2015  
To »êÅ…Mæü$ÌZ °ËÓ 15,300 By i™éË$ 11,000 

31-12-2015  By õÜtçÙ¯@þÈ 2,700 

To ^èþ…§éË$ 12,500 By Ð@þ$ÆæÿÐ@þ$™èþ$¢Ë$ 3,200 

To ÑÆ>âêË$ 7,900 By BïœçÜ$ QÆæÿ$aË$ 4,100 

To ÌêMæüÆŠÿÞ A§ðþª 3,800 By Ä¶ý$…{™éË$ 14,000 

To ´ë™èþçœÇ²^èþÆŠÿ AÐ@þ$ÃMæü… 6,200 By ò³r$tºyæþ$Ë$ 8,000 

To ÐéÆæÿçÜ™éÓË$ 10,000 By ™óþÍa¯@þ °ËÓ 17,000 

To {ç³ÐóþÔ¶ýÆæÿ$çÜ$Ð@þ¬ 4,300   

 60,000  60,000 

 çÜÆæÿ$ª»êr$ :  
 (a) 2015 Ð@þ çÜ…Ð@þ™èþÞÆ>°Mìü  Æÿ¬…M> Æ>Ð@þÍÞ¯@þ ^èþ…§éË$ Ææÿ*.1,500 Ð@þ$ÇÄ¶ý¬ Ð@þ¬…§æþ$V> Ð@þçÜ*OÌñý¯@þ 

^èþ…§éË$ MæüËíÜ E¯@þ²Ñ Ææÿ*. 800 

 (b) ^ðþÍÏ… è̂þÐ@þËíÜ¯@þ i™éË$ Ææÿ*. 3,000 

 (c) Ä¶ý$…{™éËOò³ ™èþÆæÿ$Væü$§æþË Ææÿ*. 1,000 MæüË§æþ$ 
 (d) ò³r$tºyæþ$ËOò³ Æ>Ð@þÍÞ¯@þ Ð@þyîþz Ææÿ*. 500 MæüË§æþ$ 

18. AB Ltd invited applications for 1,00,000 equity shares of Rs.10 each payable as 
Rs.2 on application Rs.3 on allotment and the balance on first and final call. 
Application were received for 300000 shares and the shares were allotted on a 
prorate basis the excess application money was to be adjusted against allotment 
only "M" a share holder, who had applied for 3000 shares, failed 90 pay the call 
money and his shares were accordingly frofeited and re-issued @ Rs.8 per share as 
fully paid pass the necessary journal entries. 

 A,B ÍÑ$sñýyŠþ ÐéÆæÿ$ 1,00,000 DMìüÓsîý ÐésêËMæü$ Ææÿ*. 10 ^öç³š¯@þ «§æþÆæÿRêçÜ$¢Ë$ ç³…í³Ç. §æþÆæÿRêçÜ$¢™ø 
Ææÿ*. 2 Ë$ MóüsêÆÿ¬…ç³#™ø Ææÿ*. 3 Ñ$WÍ¯@þ Ððþ¬™èþ¢… Ððþ$$§æþr Ìôý§é _Ð@þÇ í³Ë$ç³#™ø ^ðþÍÏ…^èþ$¯@þr$Ï gêÈ 
^óþíÜÇ. 3,00,000 ÐésêËMæü$  §æþÆæÿRêçÜ$¢Ë$ Æ>V> {´ùÆðÿsŒý ç³§æþ®†Oò³ MóüsêÆÿ¬…_ GMæüPÐ@þ §æþÆæÿRêçÜ$¢ Ý÷Ð@þ¬Ã¯@þ$ 
MóüsêÆÿ¬…ç³#Mæü$ çÜÆæÿ$ª»êr$ ^óþíÜÇ. M A¯@þ$ Ðésê§éÆæÿ$yæþ$ 3,000 ÐésêËMæü$ §æþÆæÿRêçÜ$¢ ç³…í³, MóüsêÆÿ¬…ç³# 
í³Ë$ç³#Ë$ Ææÿ*. 90 ^ðþÍÏ…_¯@þ…§æþ$¯@þ A™èþ° ÐésêË¯@þ$ fç³#¢ ^óþíÜ †ÇW Ææÿ*. 8 ç³NÇ¢V> ^ðþÍÏ…_¯@þ 
ÐésêË$V> †ÇW gêÈ ^óþíÜÇ. AÐ@þçÜÆæÿOÐðþ$¯@þ _sêtç³§æþ$ªË$ {ÐéÄ¶ý$…yìþ.  

———————— 
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B.Com. DEGREE EXAMINATION, DECEMBER 2019. 

Second Year 
QUANTITATIVE TECHNIQUES – II 

Time : Three hours Maximum : 70 marks 
SECTION A — (4  5 = 20 marks) 

Answer any FOUR of the following. 

1. What is meant by an index number? What are its uses? 

 çÜ*`çÜ…QÅ A¯@þV>¯óþÑ$? §é° {ç³Äñý*f¯éË$ ™ðþËµ…yìþ. 

2. Justify Fisher's index is an ideal index. 

 íœçÙÆŠÿÞ çÜ*` çÜ…QÅ B§æþÆæÿØ çÜ*` çÜ…QÅ A° °Æ>®Ç…^èþ…yìþ. 

3. Explain the method of moving average. 

 ^èþÍ™èþ Ð@þ*«§æþÅÐ@þ*Ë ç³§æþ®†° ÑÐ@þÇ…^èþ…yìþ. 

4. Explain graphical method to find trend in time series. 

 {ç³Ð@þ–†¢° MöËÐ@þyæþ…ÌZ ÆóÿRêç³§æþ®†° (“V>íœMæüÌŒý) ÑÐ@þÇ…^èþ…yìþ. 

5. State and prove multiplication theorem of probability. 

 çÜ…¿êÐ@þÅ™é Væü$×êM>Ææÿ íÜ§é®…™èþÐ@þ¬¯@þ$ {ç³Ð@þ_…_ °Ææÿ*í³…^èþ…yìþ. 

6. Conditional probability. 

 °Ä¶ý$™èþ çÜ…¿êÐ@þÅ™èþ. 

7. Differentiation and Integration. 

 AÐ@þMæüË¯@þÐ@þ¬ Ð@þ$ÇÄ¶ý¬ çÜÐ@þ*MæüË¯@þÐ@þ¬. 

8. Graphical Solution. 

 “V>íœMæüÌŒý ç³ÇÚëPÆæÿ…. 

 SECTION B — (2  15 = 30 marks) 

 Answer any TWO of the following questions. 

9. Calculate various price index numbers to the following data: 

Commodity 
Price Quantity 

2005 2008 2005 2008 
A 40 50 2 6 
B 50 40 4 8 
C 20 30 6 9 
D 10 20 8 6 
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 ÑÑ«§æþ ÆæÿM>Ë «§æþÆæÿË çÜ*`Ë¯@þ$ Væü×ìý…^èþ…yìþ. 

Ð@þçÜ$¢Ð@þ# «§æþÆæÿ ç³ÇÐ@þ*×ý… 

2005 2008 2005 2008 
A 40 50 2 6 
B 50 40 4 8 
C 20 30 6 9 
D 10 20 8 6 

10. Find trend values by using method of least squares to the following data. 

Year 2008 2009 2010 2011 2012 2013 2014 
Sales 27 38 44 35 51 58 50 

 D“Mìü…¨ §æþ™é¢…Ô>°Mìü  Mæü°çÙt Ð@þÆ>YË ç³§æþ®†ÌZ {ç³Ð@þ–†¢ ÑË$Ð@þË¯@þ$ Væü×ìý…^èþ…yìþ 
çÜ…‘‘ 2008 2009 2010 2011 2012 2013 2014 

AÐèþ$ÃM>Ë$ 27 38 44 35 51 58 50 

11. Evaluate the following integrals 

 (a) ∫ 𝑎𝑥ଶ𝑑𝑥 

 (b) ∫
௞

௫య 𝑑𝑥 

 (c) ∫
ହ௫

଻
𝑑𝑥 

 (d) ∫
ଷ

√௫
𝑑𝑥 

 (e) ∫ 𝑥ି଺𝑑𝑥 

 Oò³ÐésìýMìü çÜÐ@þ*MæüË¯éË¯@þ$ Mæü¯@þ$Vö¯@þ…yìþ. 

12. Solve the following LPP by using graphical method.  

 Maximize  𝑧 = 45𝑥ଵ + 80𝑥ଶ  

 subject to the constraints. 

 5𝑥ଵ + 20𝑥ଶ ≤ 400 

 10𝑥ଵ + 15𝑥ଶ ≤ 450 and 𝑥ଵ, 𝑥ଶ ≥ 0. 

 “Mìü…¨ LPP çÜÐ@þ$çÜÅ¯@þ$ “V>íœMæüÌŒý ç³§æþ®†ÌZ Ýë«¨…^èþ…yìþ.   
 𝑧 = 45𝑥ଵ + 80𝑥ଶ¯@þ$ VæüÇïÙtMæüÇ…^èþ…yìþ.  
 çÜ»ñýjMŠüt constraints  

  5𝑥ଵ + 20𝑥ଶ ≤ 400 
  10𝑥ଵ + 15𝑥ଶ ≤ 450  
  Ð@þ$ÇÄ¶ý¬ 𝑥ଵ, 𝑥ଶ ≥ 0 
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 SECTION C — (2  10 = 20 marks) 

 Answer any TWO of the following questions. 

13. Compute cost of living index number to the following data. 

Commodity Price in Quantity consumed 
in Base year Base year Current year 

A 50 75 48 
B 60 75 20 
C 200 240 10 
D 80 100 22 
E 800 1000 12 

 D ¨Væü$Ð@þ §æþ™é¢…Ô>°Mìü Ñ°Äñý*Væü§éÆæÿ$Ë «§æþÆæÿË çÜ*`çÜ…QÅ¯@þ$ Væü×ìý…^èþ…yìþ. 
Ð@þçÜ$¢Ð@þ#  B«§éÆæÿ çÜ…‘‘ÌZ 

Ñ°Äñý*W…_¯@þ ç³ÇÐ@þ*×ý… B«§éÆæÿ çÜ…‘‘ «§æþÆæÿ {ç³çÜ$¢™èþ çÜ…‘‘ «§æþÆæÿ 

A 50 75 48 
B 60 75 20 
C 200 240 10 
D 80 100 22 
E 800 1000 12 

14. Find a trend equation by using semi averages method to the following data. 

Year 2005 2006 2007 2008 2009 2010 
Sales 77 88 94 85 91 98 

 “Mìü…¨ §æþ™é¢…Ô>°Mìü semi averages  ç³§æþ®†ÌZ {ç³Ð@þ–†¢ çÜÒ$MæüÆæÿ×ê°² Ýë«¨…^èþ…yìþ 
çÜ…‘‘ 2005 2006 2007 2008 2009 2010 

E™èþµ†¢ 77 88 94 85 91 98 

15. A bag contains 4 red and 5 black balls. If two balls are drawn in succession, then 
find the probability that they are two red balls when (a) with replacement, (b) 
without replacement. 

 JMæü çÜ…_ÌZ 4 GÆæÿ$ç³#, 5 ¯@þËÏ º…™èþ$Ë$ MæüËÐ@þ#. çÜ…_ ¯@þ$…yìþ Ä¶ý*§æþ–_eMæü…V> Æðÿ…yæþ$ º…™èþ$Ë$ 
¡íÜ¯@þç³šyæþ$ AÑ  GÆæÿ$ç³# º…™èþ$Ë$ Æ>Ð@þyé°Mìü çÜ…¿êÐ@þÅ™èþ (a) †ÇW ^óþÇa¯@þç³šyæþ$ (b) †ÇW 
^óþÆæÿa¯@þç³#yæþ$ A¯@þ$ ÐóþÆæÿ$ ÐóþÆæÿ$ çÜ…§æþÆ>ÂËÌZ Væü×ìý…^èþ…yìþ. 

16. Derive the following 

 (a) ௗ

ௗ௫
(𝑥𝑒௫) 

 (b) ௗ

ௗ௫
(𝑥ଶ log 𝑥) 

 (c) ௗ

ௗ௫
(

௘ೣ

௫
) 

 Oò³¯@þ CÐ@þÓºyìþ¯@þ ÐésìýMìü AÐ@þMæüË¯é°²  Væü×ìý…^èþ…yìþ. 
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17. If two cards are drawn from a pack of Cards, then find the probability that they 
are (a) two aces, (b) a king and a queen. 

 »êVæü$V> MæüÍí³¯@þ õ³Mæü§æþÝë¢ ¯@þ$…yìþ Æðÿ…yæþ$ M>Ææÿ$zË¯@þ$ Ä¶ý*§æþ–_eMæü…V> ¡íÜ¯@þç³šyæþ$ AÑ  D “Mìü…¨ Ñ«§æþ…V> 
Æ>Ð@þyé°Mìü çÜ…¿êÐ@þÅ™èþ¯@þ$ Væü×ìý…^èþ…yìþ.  
(a) Æðÿ…yæþ$ BçÜ$Ë$  
(b) JMæü Æ>k, JMæü Æ>×ìý 

18. Solve the following LPP by using simplex method. 

 Maximize :  𝑍 = 3𝑥ଵ + 2𝑥ଶ  

 Subject to the constraints 

 𝑥ଵ + 𝑥ଶ ≤ 4 

 𝑥ଵ − 𝑥ଶ ≤ 2 and 𝑥ଵ,  𝑥ଶ ≥ 0. 

 D“Mìü…¨ LPP çÜÐ@þ$çÜÅ @̄þ$ íÜ…ò³ÏMŠüÞ ç³§æþ®†ÌZ Ýë«¨…^èþ…yìþ. 
𝑍 = 3𝑥ଵ + 2𝑥ଶ ¯@þ$ VæüÇïÙtMæüÇ…^èþ…yìþ.   
 çÜ»ñýjMŠüt constraints  

 𝑥ଵ + 𝑥ଶ ≤ 4  
  𝑥ଵ − 𝑥ଶ ≤ 2   
  Ð@þ$ÇÄ¶ý¬ 𝑥ଵ,  𝑥ଶ ≥ 0. 

———————— 
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B.Com. DEGREE EXAMINATION, DECEMBER 2019. 

Second Year  

FUNDAMENTALS OF COMPUTERS 

Time : Three hours  Maximum : 70 marks 

SECTION A — (4  3 = 12 marks) 

Answer any FOUR questions. 

1. Explain about RAM and ROM. 

 RAM ROM  

2. Advantages of computers. 

 

3. How to give file names in DOS? Explain. 

 DOS  

4. Write about formatting a floppy disk. 

 

5. Write about Edit Menu. 

  

6. Write about  Quick Menu. 

 

7. What is machine code? Explain. 

 

8. What is the meaning of compilation? Explain. 

 

SECTION B — (2  5 = 10 marks) 
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Answer any TWO questions. 

9. Explain different types of ROM. 

 

10. How to create and remove directories? Explain. 

 

11. Explain about testing process. 

 

12. Write the purposes of business All Purpose Symbolic Instruction Code (BASIC) 
language. 

 BASIC  

SECTION C — (3  16 = 48 marks) 

Answer any THREE questions. 

13. Explain the characteristics of computer. 

 

14. Write the impact of computers on Business and Society. 

 

15. Explain about DOS internal commands with examples. 

 DOS  

16. What are the features of word processing under DOS? 

 DOS  

17. What is flowchart? Explain different flow chart symbols with examples. 

 

18. Explain how to assign, read and display data in BASIC with examples. 

 BASIC 

 


